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Mgo
g = gram W = initial weight
kg = kilogram FW = final weight
kcal = kilocalorie WG = weight gain
J = jule TF = total feeding
MJ = megajule D = feeding day(s)
ADG = average daily gain
DM =< dry matter FCR = feed conversion ratio
CP = crude protein DFI = daily feed intake
EE = ether extract
CF = crude fiber BW = body weight
ANOVA = analysis of variance f. = nsu
Ccv = coefficient of variance nn. = nlansu
df = degree of freedom
MS = mean square
SEM = standard error of mean
SOV = source of variation
SS = sum of square
P = probability

VS. = Vversus



